PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR WORKSHOP/ACTION BOARD MEETING May 27, 2014 6:08 P.M. MINUTES

1. Call to Order at 6:08 p.m.

2. Reading of the Open Public Meetings Act Notice <u>Statement-Board President</u>

"This is to advise those present at this May 27, 2014 Regular Workshop/Action Board Meeting of the Board of Education of the City of Pleasantville, in the County of Atlantic, that notice was given on January 9, 2014 as required by the provisions of Chapter 231 of the Laws of 1975; that notice thereof has been distributed for publication in the Press, the Absecon/Pleasantville Current and the Mainland Journal, posted in the Administration Building and forwarded to the City Clerk of the City of Pleasantville, within the time required by said act."

3. Roll Call:

Mrs. Darleen Bey-Blocker	<u>Present</u>	Mr. Jerome Page	Present
Mr. Lawrence A. Davenport	Absent	Mrs. Doris Graves	Absent
Mr. Paul Moore, Jr.	Absent	Mrs. Harriet Jackson	Present
Mr. Michael A. Bright	<u>Absent</u>	Ms. Geraldine Hayer	Present
Mrs. Ethel Seymore	Present		

- 4. Flag Salute and Moment of Silence by Ms. Geraldine Hayer
- 5. Motion to go into Executive Session

Motion by <u>Mrs. Ethel Seymore</u> Second by <u>Mrs. Harriet Jackson</u>

6. Executive Session

Motion by <u>Mrs. Ethel Seymore</u> and Seconded by <u>Mrs. Harriet Jackson</u> at <u>6:10</u> p.m., it is hereby resolved that the Pleasantville Board of Education may go into closed or private session from which the public shall be excluded in accordance with the provisions as set forth in N.J.S.A. 10:4-12 and 10:4-13. The following subjects shall be discussed on this date in the session of the Board closed to the public: PERSONNEL, PUPIL MATTERS, PENDING, AND ANTICIPATED LITIGATION. BE IT FURTHER RESOLVED that the discussion in closed session will be disclosed to the public at this time or a future meeting of the Board when it is no longer necessary to maintain the confidential nature of the items discussed.

Roll Call:

Mrs. Darleen Bey-Blocker	Yes	Mr. Jerome Page	Yes
Mr. Lawrence A. Davenport	Absent	Mrs. Doris Graves	Absent
Mr. Paul Moore, Jr.	Absent	Mrs. Harriet Jackson	Yes
Mr. Michael A. Bright	Absent	Ms. Geraldine Hayer	Yes
Mrs. Ethel Seymore	Yes	· · · · ·	
MOTION PASSED			

Mr. Lawrence Davenport and Mrs. Doris Graves arrived at 6:11 p.m.

7. Motion to come out of Executive Session

Motion by: <u>Mrs. Doris Grave</u>	S	Second by:	Mrs. Harriet Jackson	Yea: <u>X</u>
Roll Call: Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore MOTION PASSED	Yes Yes Absent Absent Yes		Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	Yes Yes Yes Yes

- 8. Reconvene Board Meeting at 7:04 p.m.
- Report of the Business Administrator/Board Secretary: Mr. Dennis Mulvihill
 *Discussed voting at schools on Tuesday, June 3rd (LAS, NMSS Annex, WAS and SMSS)
 *Bus parking lot at MSP and Decatur Avenue School Parking lot bids are due in this month
 *Discussed scheduling of Committee Meetings
 *Need to set up an interview schedule for the Interim Superintendent position

Report of the State Monitor: Dr. Lester Richens

*Discussed the Interim Superintendent Position – 11 resumes received *Candidate must have qualifications and thorough knowledge of what is going "today" in New Jersey. Some of the applicants do not have a full certificate, only a letter of eligibility. Interim Superintendent cannot be mentored.

Report of the Chief School Administrator: Dr. Garnell Bailey, Superintendent of Schools **Mr. Kelvin Cherry spoke on behalf of Dr. Bailey.*

*There are 175 seniors at PHS - 114 students are eligible to graduate; 61 students still need to complete the necessary requirements to graduate. The deadline to complete all requirements (Appeal process for AHSA, credit recovery and credit completion) to graduate is June 20th. Graduation is scheduled June 25th.

Reports of the Board Committee Chairpersons (no reports)

10. Approval of Board Minutes: May 13, 2014 (Regular Board Meeting) May 14, 2014 (Special Board Meeting)

Motion By: <u>Mr. Lawrence Da</u>	venport	Seconded By: Mrs. Harriet Jackson	Yea: <u>X</u>
<u>Roll Call</u> : Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore MOTION PASSED	Yes Yes Absent Absent Yes	Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	<u>Yes</u> <u>Yes to 5/13; No to 5/14</u> <u>Yes</u> Yes

- 11. Public Comments. Please limit comments to (5) minutes and all comments should be courteous. **Tyrone Floyd*
- 12. Action Items: (Finance, Personnel, and Curriculum & Instruction)
- 13. Motion to Adjourn the Meeting.

Motion by: _____Yea: ____ Nay: _____

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR WORKSHOP/ACTION BOARD MEETING May 27, 2014 6:08 p.m. FINANCE MINUTES

- 1. Approval of the May 9, 2014 Payroll and Board Share of FICA/Medicare in the amount of \$2,359,406.49. The payments have been reviewed by the Business Administrator/Board Secretary.
- 2. Approval of the May 23, 2014 Payroll and Board Share of FICA/Medicare in the amount of \$2,152,954.21. The payments have been reviewed by the Business Administrator/Board Secretary.
- 3. Approval of the May 27, 2014 Bill List Warrant Account in the amount of \$2,095,251.72. The payments have been reviewed by the Business Administrator/Board Secretary.
- 4. Approval of the May 27, 2014 Bill List for Legal Bills in the amount of \$33,631.14. The payments have been reviewed by the Business Administrator/Board Secretary.
- 5. Approval of the May 27, 2014 Bill List for Food Service in the amount of \$479,379.68. The payments have been reviewed by the Business Administrator/Board Secretary.
- 6. Approval of the 2013-2014 Transfers in General Fund 11 in the amount of \$ 227,705.00 for May 2014.
- 7. Approval of the 2013-2014 Transfers in General Fund 15 in the amount of \$ 500.00 for May 2014.

8. Certification of No Over Expenditures

Pursuant to N.J.A.C. 6A:22-2.11 (c), I, Dennis J. Mulvihill, Board Secretary, certify that as of April 30, 2014, no budgetary line item account has obligation and payments which in total exceed the amount appropriated by the District Board of Education pursuant to N.J.S.A.18A:22-8 and 18A:22-8.1, and that the District financial accounts have been reconciled and are in balance.

- 9. Acceptance of the Treasurer and Secretary Reports for the month ending April 30, 2014. The Treasurer of School Monies and the Board Secretary's Reports are in balance for the cash receipts and disbursements for the month ending April 30, 2014.
- 10. Resolution for the Pleasantville Board of Education to approve the May 27, 2014 Facilities Usage Report.
- 11. For the 201-2015 school year: Coastal Learning Center does not have to charge the families for the meals we provide; and Coastal Learning Center does not have to apply for reimbursement from the Child Nutrition program; so Therefore Be It Resolved, by the Pleasantville Board of Education that the Free Breakfast and Lunch Program as required by N.J.A.C. 6A:23-4.5iii for the Pleasantville Students attending the Coastal Learning Center Atlantic (CLC) for the 2014-2015 school year.

- 12. Resolution for the Pleasantville Board of Education to approve an agreement between Pleasantville Board of Education and GWN Marketing and Security Benefits. GWN Marketing and Security Benefits is a broker/dealer to facilitate transactions for the 403 (b) Plan to Pleasantville Public School employees. GWN has a master agreement with TSA Consulting Group of which is Pleasantville Board of Education's third party administrator. Security Benefit is the NEA sponsored retirement plan throughout the entire country. Services effective immediately following approval.
- 13. Resolution to submit the FY 2014 NCLB Application & 2013 Carryover Amendment for Project period July 1, 2013 through June 30, 2014

2014 Allocation		2013 Carryover	
NCLB Title I Part A	\$1,119,713.00	NCLB Title I Part A	\$284,552.00
NCLB Title II A	\$161,660.00	NCLB Title II A	\$19,554.00
NCLB Title III	\$129,577.00	NCLB Title III	\$11,028.00
NCLB Title III Immigrant	\$26,692.00		

Background

The No Child Left Behind Act of 2001 (NCLB), a reauthorization of the Elementary and Secondary Education Act (ESEA)/Improving America's Schools Act (IASA), was signed into law on January 8, 2002. NCLB continues many of the goals set forth in IASA and incorporates additional principles and strategies for strengthening the pre K-12 academic environment. The measures included in NCLB require the following: 1) increased accountability for all responsible authorities - states, school districts, and schools; 2) greater school choice for parents whose children are attending low-performing schools; 3) more flexibility for states and LEAs in their use of federal education funds; and 4) a focus of resources on proven educational methods, particularly relating to early reading programs.

14. Approval to apply & submit for the FY 2015 NCLB Application for Project period July 1, 2014 through June 30, 2015:

NCLB Title I Part A	\$1,165,539.00
NCLB Title II A	\$164,091.00
NCLB Title III	\$137,616.00
NCLB Title III Immigrant	\$49,463.00

Background

The No Child Left Behind Act of 2001 (NCLB), a reauthorization of the Elementary and Secondary Education Act (ESEA)/Improving America's Schools Act (IASA), was signed into law on January 8, 2002. NCLB continues many of the goals set forth in IASA and incorporates additional principles and strategies for strengthening the pre K-12 academic environment. The measures included in NCLB require the following: 1) increased accountability for all responsible authorities - states, school districts, and schools; 2) greater school choice for parents whose children are attending low-performing schools; 3) more flexibility for states and LEAs in their use of federal education funds; and 4) a focus of resources on proven educational methods, particularly relating to early reading programs.

15. Resolution to submit the 21st CENTURY COMMUNITY LEARNING CENTER (C.A.R.E.) 2013-2014 Amendment for period September 1, 2013 through August 31, 2014 (Year 5 of 5)

Background

The 21st Century Community Learning Center Grant application for 2013-2014, was awarded as the continuation grant for 5th year of the 5 year grant. The funds awarded are permitted as the continuation of the C.A.R.E. after school and summer program to provide educational, recreational, youth development and parental programming for students and parents in the 4th grade through 12th grade. The program and budget components will be implemented as stated in the approved grant award. The grant cycle begins on September 1, 2013 and ends on August 31, 2014. The award amount is \$350,000.00.

16. Resolutions to submit amendment for the FY 2012 Race to the Top, Phase 3 in the amount of \$106,421:

The State's comprehensive educational reform vision is to ensure that all children, regardless of life circumstances, graduate from high school ready for college and career. The Race to the Top Phase 3 (RTTT3) subgrant program will help New Jersey greatly advance its priority initiatives so this vision can be realized. On December 22, 2011, New Jersey received \$37,847,648 from RTTT3 to support the following initiatives: The development of a model curriculum by Fall 2012, aligned to the Common Core State Standards (CCSS) and with a focus on Science, Technology, Engineering, and Mathematics (STEM) to support the statewide transition to the CCSS; The development of an Instructional Improvement System (IIS), an online portal to deliver model curriculum, formative assessments, data reporting, professional development resources, and other curricular resources aligned to the CCSS, to the school-level; The transition to new principal and teacher evaluation systems; and Support for the State's charter application and renewal review cycles.

Award Period:

Year 1 is from July 1, 2012-December 31, 2012 Year 2 is from January 1, 2013-December 31, 2013 Year 3 is from January 1, 2014- December 31, 2014 Year 4 is form January 1, 2015- November 30, 2015

17. Resolution for the Pleasantville Board of Education to approve Special Educational Services for Pleasantville Students Out of District Placements for the 2014-2015 fiscal year:

Student Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM/ TUITION COST	PLACEMENT	GRADE	ACCOUNT #
1485029 / 853273591	Coastal Learning Center	May 5, 2014 – June 24, 2014	Educational	\$250.08 p/d Not to Exceed \$10,003.02	Out of district placement changed from Y.A.L.E. to Coastal	11	11-000-100-566-0000-400
3082765 / 7196826590	South Jersey Bridgeton Inspira Health Network	May 9, 2014 – June 30, 2014	Educational	\$30.00 p/h 10 p/week Not to Exceed \$2,400.00	Medical Residential	2	11-150-100-320-0000-400
1880041 / 9030738331	The Children's Hospital of Philadelphia	April 10, 2014 June 30, 2014	Educational	\$50.00 p/d 10 p/week Not to Exceed \$6,000.00	Medical	7	11-150-100-320-0000-400

 Resolution to approve the following Student - In –Transition (Homeless Student) Tuition Contracts Agreement to attend school for the 2013-2014 school year at the listed "Receiving" School district with Pleasantville Board Of Education as the "Sending District".

STUDENT Local ID# / State ID#	LOCATION	EFFECTIVE DATE	SERVICES	PER DIEM / TUITION COST	GRADE	ACCOUNT #
3084743 / 7546947081 (KTF)	Vineland Public Schools	Sept 11,2013 - June 30,2014	Education	67.90 Per Diem x Days 180 Days Total cost \$12,219.00	1	11-000-100-561-0000-400
3086123 / 8169226397 (ATF)	Vineland Public Schools	Sept 11,2013 – June 30,2014	Education	67.90 Per Diem x Days 180 days Total Cost \$12,219.00	2	11-000-100-561-000-400
3079603 / 4382079583 (JH)	Buena Regional Public Schools	Sept 6, 2013- Sept 12, 2013 Student attended 5 Days only	Education	\$86.22 Per Diem x Days 5 Days *Personal aide @ 5 Days \$150.14 per Day Transportation @ 5 Days @\$2.55 Total Cost \$1,194.55	2	11-000-100-562-0000-400

19. RESOLUTION OF THE BOARD OF EDUCATION OF THE CITY OF PLEASANTVILLE IN THE COUNTY OF ATLANTIC, NEW JERSEY REGARDING THE BORROWING OF A STATE AID PAYMENT FOR JUNE 20, 2014

Whereas, the State of New Jersey will again delay the receipt of the <u>June 6, and June 20, 2014</u> state aid payments until fiscal year 2013/2014; and

Whereas, the Board of Education of the City of Pleasantville in the County of Atlantic, New Jersey (the "Board of Education") needs to borrow the <u>June 6, 2014</u> state aid payment in the principal amount of **\$3,403,070.00** order to meet its cash flow requirements for that period; and

Whereas, N.J.S.A. 18A:22-44.2 allows New Jersey school districts to enter into short term loans with banks of their choice because of the delay in the June state aid payments; and

Whereas, all borrowing under this statute requires the approval of the New Jersey Department of Education, requiring the Board of Education to submit a written application and a demonstration of need for such borrowing; and

Whereas, the principal and interest on approved loans will be paid directly to the lending bank by the State of New Jersey;

Now Therefore Be It Resolved that the Board of Education of the City of Pleasantville in the County of Atlantic, New Jersey hereby authorizes the School Business Administrator/Board Secretary, or his designee, to submit the necessary application and supporting documentation to the Atlantic County Executive Superintendent to obtain funding in the amount of <u>\$3,403,070.00</u> together with interest thereon, at the rate of **1.78** % to **2.6**% per annum from **Susquehanna Bank and TD Bank** and authorizes the execution of a "State School Aid Application Note" with the lender to undertake the borrowing.

This resolution shall take effect immediately.

MOTION BY:	SECOND BY:		Yea:	Nay:
ROLL CALL:				
Mrs. Darleen Bey-Blocker	N	Mr. Jerome Page	_	
Mr. Lawrence A. Davenport	N	Mrs. Doris Graves	_	
Mr. Paul Moore, Jr.	N	Mrs. Harriet Jackson		
Mr. Michael A. Bright _	N	Ms. Geraldine Hayer		
Mrs. Ethel Seymore				

*Finance Agenda Facilities Usage Item for Informational Purposes Only (Date change below approved by the State Fiscal Monitor)

*No Action Required: Date change from June 12, 2014 to June 11, 2014 – date of June 12, 2014 was Board approved on May 13, 2014.

Change of Date for Athletic Award Banquet on Facilities Usage:

Req#	Bldg/Area	Event/Contact	Date(s)	Time	Staff				Cost	Pa	aid Bal. I	Due	
					#Att	SC	CS	ST	LG	Staff	Fac.	Appl. Fee	
0091	PHS Cafeteria	PHS Athletic Dept. Athletic Awards Banquet Derrick Carrington	*June 11, 2014	4:00 p.m 10:00 p.m.	100	1	1	N/A	N/A	BC	NC	NC	BC

NOTE: FINANCE AGENDA Page 3, #11 should be 2014-2015 school year.

NOTE: FINANCE AGENDA Page 7, #19 should be Fiscal Year 2014-2015.

FINANCE AGENDA ADDENDUM

1. Whereas, the Pleasantville Board of Education advertised on May 7, 2014 in the Press of Atlantic City for district Food Service RFP # 14-01 for 2014-2015; and

Whereas, Pleasantville Board of Education received the Food Service RFP # 14-01 from Sodexo, and conducted the Opening on May 22, 2014 as advertised; and

Whereas, Pleasantville Board of Education rejects the Food Service RFP# 14-01 in accordance to 18A: 18A-22.d. (i.e. Rejection of Bids – The Board of Education wants to substantially revise the specifications for the goods or services); so

Therefore, **Be it Resolved** that the Pleasantville Board of Education re-advertise for the district Food Service RFP# 14-01 for the 2014-2015 school year.

Please see page 41 for consented vote on Finance Agenda items #1-19 and Finance Agenda Addendum.

PLEASANTVILLE BOARD OF EDUCATION HUMAN RESOURCES AGENDA ITEMS Board Meeting Tuesday, May 27, 2014 MINUTES

It is recommended that the Board of Education accepts the recommendation of the Superintendent and hereby approves the following:

1. SUBSTITUTE STAFF (PENDING CRIMINAL HISTORY CLEARANCE) ON AS NEEDED BASIS:

Name	Position	Location	Effective Date	Salary	Funding Source
Ca'Shawna Brown	Substitute Teacher	District	May 28, 2014	\$95.00 per day	11-110-100-100-0000-236 11-120-100-100-0000-236 11-130-100-100-0000-236 11-140-100-100-0000-236

2. RETIREMENTS:

2. (CETICEMENTO:					
Name	Position	Location	Effective Date	Salary	Funding Source
Simon Copeland	Custodian	Middle School	August 1, 2014	N/A	N/A
Gladys Doretha English	Teacher	Leeds Avenue	June 30, 2014	N/A	N/A
Melanie Harrington	Teacher	South Main	July 1, 2014	N/A	N/A
Charles Unger	Teacher	High School	July 1, 2014	N/A	N/A

3. RESIGNATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Diane Gavrailova-Corrigan	Teacher	NMSS	June 30, 2014	N/A	N/A
Desmond McGoldrick	Teacher	PHS	June 30, 2014	N/A	N/A

4. TERMINATION:

Name	Position	Location	Effective Date	Salary	Funding Source
Stephen Garris	Custodian	NMSS	May 28, 2014	N/A	N/A

5. *PULLED - INCREMENT WITHHOLDING:

Name	Position	Location	Effective Date	Salary	Funding Source
Patrick Howard	Custodian	LAS	July 1, 2014 –	\$37,565.00	11-000-262-100-0000-080
			June 30, 2015	(Step 12)	
Trina Jenkins	Instructional Aide	LAS	July 1, 2014 –	\$31,358.00	11-000-217-106-0000-400
			June 30, 2015	(Step 9)	

6. BOARD LEAVE OF ABSENCE WITH BENEFITS WITHOUT PAY:

Name	Position	Location	Effective Date	Salary	Funding Source
Santiago Murray	Security Guard	WAS	April 18, 2014 –	N/A	N/A
			June 30, 2014		

7. RICHARD STOCKTON COLLEGE STUDENT TEACHER PLACEMENTS:

Name	Position/Assignment	Location	Effective Date	Salary	Funding Source
Daria Wells	Syreeta Primas	LAS	May 14, 2014 –	N/A	N/A
			June 30, 2014		

8. RICHARD STOCKTON COLLEGE OF NJ NURSING STUDENT PLACEMENTS:

Name	Position/Assignment	Location	Effective Date	Salary	Funding Source
Nicole Conroy	Student Intern District		September 10, 2014 – N/A		N/A
			December 3, 2014		
Raymond Giannascoli	Student Intern	District	September 10, 2014 –	N/A	N/A
			December 3, 2014		
Erick Hugo	Student Intern	District	September 10, 2014 –	N/A	N/A
-			December 3, 2014		
Joseph Johnson	Student Intern	District	September 10, 2014 –	N/A	N/A
			December 3, 2014		
Stephen Locke	Student Intern	District	September 10, 2014 -	N/A	N/A
			December 3, 2014		
Vaibhavee Pathak	Student Intern	District	September 10, 2014 –	N/A	N/A
			December 3, 2014		
Juli Pifer	Student Intern	District	September 10, 2014 -	N/A	N/A
			December 3, 2014		
Kalia Rand	Student Intern	District	September 10, 2014 –	N/A	N/A
			December 3, 2014		
Richard Tierno	Student Intern	District	September 10, 2014 –	N/A	N/A
			December 3, 2014		
Alyssa Zweir	Student Intern	District	September 10, 2014 -	N/A	N/A
•			December 3, 2014		

9. RUTGERS UNIVERSITY RN TO BS NURSING STUDENT PLACEMENTS:

Name	Position/Assignment	Location	Effective Date	Salary	Funding Source
Brian Cabalo	Student Intern	District	September 1, 2014 –	N/A	N/A
			December 15, 2014		
Lauren Capossella	Student Intern	District	September 1, 2014 –	N/A	N/A
			December 15, 2014		
Amanda Carty	Student Intern	District	September 1, 2014 –	N/A	N/A
			December 15, 2014		
Amanda Mulderrig	Student Intern	District	September 1, 2014 –	N/A	N/A
-			December 15, 2014		
Dichera Valentino	Student Intern	District	September 1, 2014 –	N/A	N/A
			December 15, 2014		
John Walch	Student Intern	District	September 1, 2014 –	N/A	N/A
			December 15, 2014		

10. PROFESSIONAL	Position	/		Colon/Ctinond	Euroding Source
Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
PLC- Using Data to Deve	Ion Student Inte		ON AVENUE SCHOOL		
Marlene Barrera	Teacher	WAS	May 28, 2014 -	\$30 per hour	20-270-200-100-0000-545
	reacher	1140	June 30, 2014	not to exceed	2013-2014 Title II-A
			, -	15 hours (\$450)	
Christina Favre	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
San Juana Parmer	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
	<u> </u>			15 hours (\$450)	
PLC – Using Data to Dev					
Marisa Ward	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 15 hours (\$450)	2013-2014 Title II-A
Michael Zain	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
MICHAEI Zaili	reacher	WAS	June 30, 2014	not to exceed	2013-2014 Title II-A
			00110 00, 2014	15 hours (\$450)	
June Puryear	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
			,	15 hours (\$450)	
Desiree Daniels-Green	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
PLC – Best Practices in t					
Jean Hovey	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
O'h is Otashaas	Tereben	14/4.0	May 00, 0044	15 hours (\$450)	
Silvia Stephens	Teacher	WAS	May 28, 2014 –	\$30 per hour not to exceed	20-270-200-100-0000-545 2013-2014 Title II-A
			June 30, 2014	15 hours (\$450)	2013-2014 Hue II-A
Shirley King	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
Offinitely rung	reacher	11/10	June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Rose Giunta	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
PLC- Using Data to Evalu				· _ · _ · _ ·	
Coleen Abel	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Marlene Barrera	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
Mandau Dualdau alla	Teecher	14/4.0	May 00, 0014	15 hours (\$450)	
Marylou Breidenstine	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	

10. PROFESSIONAL LEARNING COMMITTEE (PLC) TRAINING:

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Malinda McGranahan	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
PLC- Learning Targets H				1.	
Janida Dellior	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Christina Favre	Teacher	WAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
D 0			NA 00 0044	15 hours (\$450)	
Rene Gensamer	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
			00	15 hours (\$450)	
DI O Illain a Data fan Dua			AIN STREET SCHOOL		
PLC - Using Data for Pro			May 00 0044	¢20 parkau	20 270 200 400 0000 545
Michelle McCline	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
			June 30,2014	not to exceed 15 hours (\$450)	2013-2014 Title II-A
Mark Santanello	Guidance	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
	Counselor		June 30,2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
John Toland	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
			June 30,2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Michelle Jacobs	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
			June 30,2014	not to exceed	2013-2014 Title II-A
T N'			NA 00.0044	15 hours (\$450)	
Tammy Misa	Teacher		May 28,2014-	\$30 per hour	20-270-200-100-0000-545
		NMSS	June 30,2014	not to exceed	2013-2014 Title II-A
PLC - Organizing Curric				15 hours (\$450)	
Renee Alford	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
Reliee Allolu	reacher	INIVISS	June 30,2014	not to exceed	2013-2014 Title II-A
			Julie 30,2014	15 hours (\$450)	2013-2014 1100 11-A
Linda Baum	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
			June 30,2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	2010 2011 1100 1171
Deborah Gaskins	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
			June 30,2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Brian Kavagnah	Teacher	NMSS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
<u>G</u>			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
PLC - Using Data to Set	Appropriate Lear	ning Goals		· · · · · ·	
Patricia Defant	Teacher	NMSS	May 28,2014-	\$30 per hour	20-270-200-100-0000-545
			June 30,2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Kia Allen	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Kaisha Medina	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC - Developing Onlin	e Assessments				
Tim Kelly	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Mike Dare-Gentile	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Stefanie Burns	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Darryll Ramsey	Teacher	NMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC - Creating and Dev					
Ramona Guenther	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Lisa Lehne-Gilmore	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Rhonda Farmer	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Leisa Watson	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Angela Davis	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC - Peer Coaching					
Renee Alford	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Tim Kelly	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450	20-270-200-100-0000-545 2013-2014 Title II-A
Michelle McCline	Teacher	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Mark Santanello	Guidance Counselor	NMSS	May 28,2014- June 30,2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
		EARLY CH	ILDHOOD PROGRAM		
PLC 1-Leading the Way	: Creating a Positi	ve Classroom I	Environment		
Katie Kunze	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Jennifer Elwell	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Claudia Velasquez	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Carol Zubkov	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Martha Hoffnagle	Master Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Erika Baldwin	Master Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Kimairy Candelaria	Master Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Jaqueline McGinty	Teacher	NMSS	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Marchita McKinsey	Teacher	LAS	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Judy Morris	Teacher	LAS	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC 2-Strategies for Pr	eventing and Addr	essing Challen	ging Behaviors		
Michelle Gray	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Bridget Huber	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Janet Shepler	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Donald Hanek	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Linda Rosas	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Amy Pacentrilli	Teacher	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Renee Hill	PIRT	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Patricia Pressley	PIRT	DAP	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Amy Cutler	Teacher	NMSS	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Robin Holmes	Teacher	LAS	May 28, 2014 - June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
			AVENUE SCHOOL		·
PLC – Designing Quality		-		*•••	
Judy Morris	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Marchita McKinsey	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Lisa Gist-Ragland	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Sumedha Anand-Surti	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Sharone Brown-Jackson	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Evelyn Custodio	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Robin Holmes	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Jeffrey Laster	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC – Utilizing Data to De				ntion Program	
Allison Cordivari	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Andrea Hindelang	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
-			June 30, 2014	not to exceed 6	2013-2014 Title II-A
				hours (\$180.00)	
Candace Kelsey	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 6	2013-2014 Title II-A
				hours (\$180.00)	
Jeffrey Laster	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 6	2013-2014 Title II-A
				hours (\$180.00)	
PLC - Designing Quality	y Math Assessme	nts		· · · ·	
Mary Lenahan	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
•			June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Sidney Scott	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
,			June 30, 2014	not to exceed 4	2013-2014 Title II-A
			-, -	hours (\$120.00)	
Elena Meade	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
		_	June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Marshella Cass	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Amirah Jones	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
	reaction	2,10	June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	2010 2011 1100 1170
Romise Austin	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
	reaction	2/10	June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	2010 2011 1100 1174
Martha Wisenbaker	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
	reaction	2/10	June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	2010 2011 1100 1174
Eric Walden	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
	redoner	2/10	June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	2010 2011 1100 117
Patricia Barnard	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Syreeta Primas	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
Cyrollar millas			June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Barbara Hinchman	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
	1 GOULGI		June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Kathy McQueen	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
Nally MCQUEEN	reacher	LAS	June 30, 2014 –	not to exceed 4	2013-2014 Title II-A
			June 30, 2014	hours (\$120.00)	2010-2014 1100 11-A
			1	Ι ΠΟΠΙ 5 (ΦΙΖΟ.ΟΟ)	

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Stephanie Smith-Stowe	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC – Designing Quality	ELA Assessme	nts	I.		
Syreeta Primas	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Ronald Fogg	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Eric Walden	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Patricia Barnard	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Mary Lenahan	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Stephanie Smith-Stowe	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Leo Hamlett	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Tammy Mahana	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Barbara Hinchman	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Kathy McQueen	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Mary Low	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
LeighAnn Fay-Kerper	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Bendelon Seawell	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Andrea Hindelang	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120.00)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Marshella Cass	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
Dawn Karpinski	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 4	2013-2014 Title II-A
				hours (\$120.00)	
PLC – Technology for 21st	^t Century Learn	ing: Using Tech		Communication	
Mary Flynn	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Mary Low	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Alisha Blanchet	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Ronald Fogg	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Eric Walden	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Syreeta Primas	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Nikki Smith	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Stacey Swann	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Theresa Lamond	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Bendelon Seawell	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Matthew Krason	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Holli Musoff	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	
Stephanie Smith-Stowe	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 5	2013-2014 Title II-A
				hours (\$150.00)	

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Leo Hamlet	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Tammy Mahana	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Amirah Jones	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Romise Austin	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Judy Morris	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Sidney Scott	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Martha Wisenbaker	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Jeffrey Laster	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 5 hours (\$150.00)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC – Incorporating Hig	gher Order Thinki	ng Skills into Da	aily Instruction		
Barbara Hinchman	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Martha Wisenbaker	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Patricia Barnard	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Dawn Karpinski	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Eric Walden	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Ronald Fogg	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Kathy McQueen	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Sidney Scott	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Elena Meade	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Marshella Cass	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Jamie Adams-Ford	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Judith Khullar	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
LeighAnn Fay-Kerper	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Andrea Hindelang	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Allison Cordivari	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC- Using Data to Evalu	ate and Design	an Effective Sch	nool-Wide Plan		•
Jeffrey Laster	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Stephanie Smith-Stowe	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Sidney Scott	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Andrea Hindelang	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Candace Kelsey	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Judith Morris	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Rawa Nistico	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Allison Cordivari	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 6 hours (\$180.00)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC – Discovering and S	haring Profession	onal Websites			
Syreeta Primas	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Stephanie Smith-Stowe	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Amirah Jones	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Kathy McQueen	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Alicia Blanchet	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Bendelon Seawell	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Tammy Mahana	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Carrie Brandon	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Barbara Hinchman	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Robin Holmes	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Marchita McKinsey	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Lisa Gist Ragland	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Karen Brown	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Romise Austin	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Sharone Brown-Jackson	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Ruth Cohenson	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Brittany LaPorte	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Jeffrey Laster	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC – Technology for 21st					
Cheryl Jones	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Tracy Martin	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Gretchen Wilkes	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
BethAnn Barnard	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Christine Ferone	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Debra Higbee	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Christine Grabowski	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Tamika Luna	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Myriam Morales	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Rhonda Moore-McQueen	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A
Victoria Tolbert	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90.00)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Kathy Lopez	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3	20-270-200-100-0000-545 2013-2014 Title II-A
			June 30, 2014	hours (\$90.00)	2013-2014 11116 11-A
John White	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 3	2013-2014 Title II-A
Alicia Blanchet	Teacher	LAS	May 28, 2014 –	hours (\$90.00) \$30 per hour	20-270-200-100-0000-545
Alicia Dialichet	reacher	LAS	June 30, 2014 –	not to exceed 3	2013-2014 Title II-A
			00110 00, 2014	hours (\$90.00)	2010 2014 1100 1170
Beverly Conner	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 3	2013-2014 Title II-A
Ountie Hieles	Teeshee		May 00, 0014	hours (\$90.00)	
Curtis Hicks	Teacher	LAS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3	20-270-200-100-0000-545 2013-2014 Title II-A
			Julie 30, 2014	hours (\$90.00)	2013-2014 Hue II-A
Jeffrey Laster	Teacher	LAS	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 3	2013-2014 Title II-A
				hours (\$90.00)	
PLC – Infusing Literad	cy Strategies in the		DOL OF PLEASANTVILL	E	
William Martin	Teacher	MSP	May 28, 2014 –	\$30 per hour not	20-270-200-100-0000-545
William Wattin			June 30, 2014	to exceed 15	2013-2014 Title II-A
				hours (\$450.00)	
Latanya Elias	Teacher	MSP	May 28, 2014 –	\$30 per hour not	20-270-200-100-0000-545
			June 30, 2014	to exceed 15 hours (\$450.00)	2013-2014 Title II-A
Kathleen Russo	Teacher	MSP	May 28, 2014 –	\$30 per hour not	20-270-200-100-0000-545
			June 30, 2014	to exceed 15	2013-2014 Title II-A
				hours (\$450.00)	
Jayne Dempsey	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15	20-270-200-100-0000-545 2013-2014 Title II-A
			Julie 30, 2014	hours (\$450.00)	2013-2014 Hue II-A
Shawna Coles	Teacher	MSP	May 28, 2014 –	\$30 per hour not	20-270-200-100-0000-545
	-		June 30, 2014	to exceed 15	2013-2014 Title II-A
				hours (\$450.00)	
PLC – Developing and					
Nicola Tasoff	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed	20-270-200-100-0000-545 2013-2014 Title II-A
			June 30, 2014	15 hours (\$450)	
William Martin	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Annie Graves	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed 15 hours (\$450)	2013-2014 Title II-A
Latanya Elias	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Kathleen Russo	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Tara Esposito	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
		MOD	NA 00 0044	15 hours (\$450)	
Erika Boehm	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
Christian Cross	Taaahar	MSP	May 29, 2014	15 hours (\$450)	20-270-200-100-0000-545
Christina Gras	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed	2013-2014 Title II-A
			Julie 30, 2014	15 hours (\$450)	2013-2014 Hue II-A
PLC – Learning Targets	s - Helning Studen	te Aim for Unde	retanding	15 110015 (\$450)	
William Martin	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
		WIGE	June 30, 2014	not to exceed	2013-2014 Title II-A
			June 30, 2014	15 hours (\$450)	
Annie Graves	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
		Wier	June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Regina Tronu	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Sydney Simpson	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
, , ,			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Latanya Elias	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
•			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Kathleen Russo	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Donna Champion	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Carin Denman	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Infusing Literacy Strate	•			A 00	
Regina Tronu	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
<u> </u>				15 hours (\$450)	
Sydney Simpson	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
David Theor		MOD		15 hours (\$450)	
Renee Thompson	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Maria Dattilo	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Renee Thompson	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Elizabeth Hurley	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
·			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Michael LaTorre	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Annie Kotokpo	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Kathleen Watson	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
PLC - Using Data to De	evelop and Implem	ent a Summer E	Enrichment Program		
Latanya Elias	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Kathleen Russo	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Maria Dattilo	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Elizabeth Hurley	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Jeanie Doms	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
William Martin	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Renee Irwin	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
Kathleen Watson	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	
PLC- Analyze Data to I	dentify School-Wie	de Focus Areas	for Academic Improv	vement	
Linda Richards	Teacher	MSP	May 28, 2014 –	\$30 per hour	20-270-200-100-0000-545
			June 30, 2014	not to exceed	2013-2014 Title II-A
				15 hours (\$450)	

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Monica Foti	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Monique Floyd	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Christine Teeny	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Victoria Williamson	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
Renee Gensamer	Teacher	MSP	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 15 hours (\$450)	20-270-200-100-0000-545 2013-2014 Title II-A
	·		AIN STREET SCHOOL		
PLC - Enhancing Stude					
Christine Roller	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Kristine Miller	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Zelda Prieto	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Maryanne DeBlasio	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Rosangela Goldian	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Jill Hennis	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Y'Tanya Gillespie	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Beth Maisto	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Shina Tiller	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Shannon Rothman	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
PLC - Developing Strat		tudents in Using	Details for Open Er	nded Questions in	
Deborah Collins-Rice	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Grace Ladia	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Willie Ceasar	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Adrienne Wesley	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Melissa Degirolamo- Quigley	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Eugene Croff	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Jillian Butterhof	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 18 hours (\$540)	20-270-200-100-0000-545 2013-2014 Title II-A
Delnora Rowell	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Lena Gault	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Christina Toro	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
John Motley	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Yvonne Dill-White	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Ninette Philips	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Michael Kiefer	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Raymond Frazier	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Rhonda Pinder	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC - Preparing Studen	ts to Effectively L	Jse Technology	for PARCC		
Cassandra Russell	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Delores Roberts	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Ericka Watson	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Terre Alabarda	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Ernestine Lackland	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Kelly Turner	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Robin Dennis	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Darryl Lindenmuth	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Cynthia Verderber	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
James Shisler	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Rumari Torres	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Ruth Homer	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 7 hours (\$210)	20-270-200-100-0000-545 2013-2014 Title II-A
Ericka Merion-Smalls	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Kelly Sommers	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
PLC - Developing High A	chievers in Mat	h Facts & Fluen	су		
Cynthia Stocks	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 4 hours (\$120)	20-270-200-100-0000-545 2013-2014 Title II-A
Tatianna Cunningham	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 18 hours (\$540)	20-270-200-100-0000-545 2013-2014 Title II-A
Leslie Price	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Regina Callaghan	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Jennifer Martinez	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
Christopher Smith	Teacher	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 8 hours (\$240)	20-270-200-100-0000-545 2013-2014 Title II-A
PLC - Using Data to Deve	lop & Implemen			hment Program	-
Tina Colvin-Squair	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Beatrice Moore	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Leslie Moore	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Rosaline Walker	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
David Gaffney	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Ashlee Keyes-Gonzales	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Marlene Parkes	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Blanche Cole	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A
Chelon Gray	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3 hours (\$90)	20-270-200-100-0000-545 2013-2014 Title II-A

Name	Position	Location	Effective Date	Salary/Stipend	Funding Source
Emily Brown	Aide	SMSS	May 28, 2014 – June 30, 2014	\$30 per hour not to exceed 3	20-270-200-100-0000-545 2013-2014 Title II-A
			00110 00, 2011	hours (\$90)	2010 2011 1100 1171

11. Resolution to approve Dale Sheridan to write the program component of the Perkins Grant for the Business Education Department at the Pleasantville High School. The FY15 grant is for \$31,929.00. Ms. Sheridan would write the grant and compile the VEDS (Vocational Education Data System). Dale Sheridan will receive a stipend in the amount of \$1,500.00 utilizing account# 20-361-200-100-0000-545.

MOTION BY:	SECOND BY:		Yea:	Nay:
ROLL CALL: Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore		Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	-	

HR INFORMATIONAL ITEMS (NO ACTION REQUIRED; APPROVED BY THE STATE MONITOR)

STAFF TRANSFERS:

Name	Position	Location	Effective Date	Salary	Funding Source
Bruce Davenport	Instructional Aide	SMSS to WAS	May 5, 2014 – June 30, 2014	N/A	11-000-217-106-0000-400
Clifford Moore	Teacher	PHS to DAP	,		20-218-200-104-0000-234 (2013-2014 Preschool)

NOTE: HUMAN RESOURCE ITEM #10, PAGES 12-31 - Additional Funding Source information was added to the Professional Learning Committee trainings.

Please see page 41 for consented vote on Human Resource Agenda Items #1-4, 6-11 (#5 PULLED).

PLEASANTVILLE BOARD OF EDUCATION CURRICULUM & INSTRUCTION AGENDA ITEMS Board Meeting Tuesday, May 27, 2014 MINUTES

The Superintendent of Schools recommends adoption of the following:

RESOLUTION

The Pleasantville Board of Education is committed to ensuring all students succeed academically and reach their full potential in life. In doing so, it is also committed to providing opportunities for and ensuring that all students (inclusive of English Language Learners and Special Education Students) meet the New Jersey Common Core State Standards and achieve academic and long-life success.

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Allison Abbate	MSP	Northfield Community School Collaboration in Northfield, NJ	5/28/14	N/C	N/A
Erika Baldwin	DAP	Initial Training for the Classroom Assessment Scoring System in Voorhees, NJ	6/5/14 6/6/14	Registration N/C Mileage @ \$.31 per mile	20-218-200-516-0000-234 Mileage
Darleen Bey-Blocker (Board Member)	District	Strauss Esmay Associates Annual School Law and Policy Seminar in Lincroft, NJ	6/13/14	Registration \$50.00 Mileage @ \$.31 per mile	11-000-251-580-0000-351 Registration and Mileage
Tracy Boswell	PHS	Web 2.0 tools for Teaching, Learning and Sharing Content in Galloway, NJ	6/3/14	7 ETTC Hrs. Mileage N/C	N/A
Michael Bright (Board Member)	District	Strauss Esmay Associates Annual School Law and Policy Seminar in Lincroft, NJ	6/13/14	Registration \$50.00 Mileage @ \$.31 per mile	11-000-251-580-0000-351 Registration and Mileage
Constance Burroughs	PHS	Writing and the Common Core 6-12: Exploring Writing Strategies for ELA in Mullica Hill, NJ	6/11/14	N/C	N/A

1. WORKSHOP/CONFERENCE ATTENDANCE:

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Constance Burroughs	PHS	SGO 2.0 Increasing SGO Quality through Better Assessments and Target Setting in Galloway, NJ	6/12/14	N/C	N/A
Kelvin Cherry	PHS	SGO 2.0 Increasing SGO Quality through Better Assessments and Target Setting in Galloway, NJ	6/12/14	N/C	N/A
Tatiana Cunningham	SMSS	SGO 2.0 Increasing SGO Quality Through Better Assessment and Target Setting in Galloway, NJ	6/11/14	N/C	N/A
Gloradine Gause	District	Strauss Esmay Associates Annual School Law and Policy Seminar in Lincroft, NJ	6/13/14	Registration N/C Mileage @ \$.31 per mile	11-000-251-580-0000-351 Mileage
Christina Gras	MSP	Northfield Community School Collaboration, Northfield, NJ	5/28/14	N/C	N/A
John Hannigan	District	NJ SMART Practice Submission in Vineland, NJ	6/11/14	N/C	N/A
Geraldine Hayer (Board Member)	District	Strauss Esmay Associates Annual School Law and Policy Seminar in Lincroft, NJ	6/13/14	Registration \$50.00 Mileage @ \$.31 per mile	11-000-251-580-0000-351 Registration and Mileage
Ruth Homer	SMSS	All things Google PD Summer Camp in Galloway, NJ	7/23/14	7 ETTC Hrs. Mileage N/C	N/A
Rayna Iddinn	PHS	Microsoft Excel 2 Day Workshop in Atlantic City, NJ	6/10/14 6/11/14	Registration \$128.00 Mileage N/C	11-000-266-500-0000-352
Harriet Jackson (Board Member)	District	Strauss Esmay Associates Annual School Law and Policy Seminar in Lincroft, NJ	6/13/14	Registration \$50.00 Mileage @ \$.31 per mile	11-000-251-580-0000-351 Registration and Mileage
Susan Johnston	PHS	Beginning AP English in New Brunswick, NJ	7/14/14- 7/18/14	Registration \$1,025.00 Mileage N/C	20-270-200-500-0000-545 (2013-2014 NCLB Title IIA) Registration

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Johnny Jones	PHS	Anti-Bullying and School Safety Conference in	5/28/14 5/29/14	18 ETTC Hrs.	N/A
Sheltrenia Jones	CARE	Galloway, NJ Food Service Workshop in Pleasantville, NJ	6/24/14	Mileage N/C N/C	N/A
Lindsey Marchesani	PHS	SGO 2.0 Increasing SGO Quality through Better Assessments and Target Setting in Galloway, NJ	6/12/14	N/C	N/A
Richard McAllister	PHS	Writing and the Common Core 6-12: Exploring Writing Strategies for ELA in Mullica Hill, NJ	6/11/14	N/C	N/A
Gregory McKellar	PHS	Anti-Bullying and School Safety Conference in Galloway, NJ	5/28/14 5/29/14	18 ETTC Hrs. Mileage N/C	N/A
Dennis Mulvihill	District	Strauss Esmay Associates Annual School Law and Policy Seminar in Lincroft, NJ	6/13/14	Registration \$50.00 Mileage @ \$.31 per mile	11-000-251-580-0000-351 Registration and Mileage
Dennis Mulvihill	District	NJASBO 52 nd Annual Conference in Atlantic City, NJ	6/4/14 6/5/14 6/6/14	Registration \$150.00 Mileage N/C	11-000-251-890-0000-351 Registration
Mark Santanello	NMSS	2014 Anti-Bullying and School Safety Conference in Galloway, NJ	5/28/14 5/29/14	18 ETTC Hrs. Mileage N/C	N/A
Elisha Thompkins	District	NJASBO 52 nd Annual Conference in Atlantic City, NJ	6/4/14 6/5/14 6/6/14	Registration \$150.00 Mileage N/C	11-000-251-890-0000-351 Registration
**Workshops and Con	ferences Board	Approved 12/17/13 Mileage	Added On		
Catherine Manning	District	Competitive Contracting in Somerville, NJ	5/30/14	\$215.00 Registration	11-000-251-580-0000-351 Registration
		(Board Approved 12/17/13)		Mileage @ \$.31 per mile	
Catherine Manning	District	Public School Bidding in New Brunswick, NJ	4/16/14	\$215.00 Registration	11-000-251-580-0000-351 Registration and Mileage
		(Board Approved 12/17/13)		Mileage @ \$.31 per mile	

Staff Member	Location	Title of Workshop/Conference	Date	Cost	Account#
Chalyse McDavid- Whitland	District	Introduction to Public Purchasing in Waretown, NJ (Board Approved 12/17/13)	5/15/14	\$106.00 Registration Mileage @ \$.31 per mile	11-000-251-580-0000-351 Registration
Workshops and Confe	rences Prior to	Board Meeting Approved	by the Stat	te Monitor	
Lindsey Marchesani	PHS	6-12 Modeling – South in Galloway, NJ	5/20/14	N/C	N/A
Scott Rullan	PHS	6-12 Modeling – South in Galloway, NJ	5/20/14	N/C	N/A

2. ACTIVITIES:

School/Program	Activity	Date	Cost	Account#	Time
Decatur Avenue	Resources and Social Services Parent Pre/Post Natal Care Workshop	6/3/14	\$35.00 Refreshments	20-218-100-600-0000-234 Refreshments	9:00am – 11:30am
Decatur Avenue	Southern Jersey Family	6/4/14	N/C	N/A	9:00am – 11:00am
Early Childhood Program	Fun in the Sun Day	6/20/14	\$1,500.00 Refreshments and Supplies	20-218-100-600-0000-234 (2013-2014 Preschool) Refreshments/Supplies	9:00am – 1:00pm
High School	District-Wide Band Day (PHS, MSP, LAS, NMSS, SMSS, and WAS band students will perform with each other and have lunch)	6/12/14	N/C	N/A	10:00am – 1:00pm
High School	PHS Annual Awards Night	6/12/14	\$450.00 Flowers and Refreshments	15-000-240-600-0000-050 Flowers and Refreshments	6:00pm – 7:30pm
High School	PHS Athletic Awards Banquet	6/12/14	\$2,750.00 Trophies and Refreshments	15-402-100-600-0000-050 Trophies 15-402-100-500-0000-050 Refreshments	
High School	French, Math and National Honor Societies Induction Ceremony	6/4/14	N/C	N/A	2:30pm – 4:00pm
Leeds Avenue	Spring Band and Choir Concert	5/29/14	N/C	N/A	6:00pm – 7:00pm
Leeds Avenue	5 th Grade Orientation	6/3/14	N/C	N/A	9:00am – 11:30am

School/Program	Activity	Date	Cost	Account#	Time
Leeds Avenue	Band Festival Day at PHS	6/12/14	N/C	N/A	9:00am – 2:00pm
Leeds Avenue	Mentors and Mentees End of the Year Celebration	6/13/14	\$600.00 Refreshments/ Party Rentals	Student Activity Account #540	3:00pm – 5:00pm
Leeds Avenue	5 th Grade Awards Ceremony	6/17/14	\$300.00 Refreshments	Student Activity Account #540	9:30am – 10:30am
Middle School	MSP Readers Challenge Breakfast	6/11/14	N/C	N/A	8:00am – 8:30am
Middle School	Drama Club Banquet	6/23/14	\$300.00 Refreshments and Trophies	Student Activity Account #557	1:30pm – 5:30pm
South Main	Boys Only Club Father and Son Breakfast	6/12/14	\$300.00 Refreshments	Student Activity Account #537	6:00am – 9:30am
Washington Ave	PTO Fun Day	6/19/14	N/C	N/A	1:30pm – 4:00pm
Washington Ave	5 th Grade Moving On Ceremony	6/24/14	\$213.00 Refreshments and Supplies	Student Activity Account # 536	10:00am – 11:30am

3. FUNDRAISERS:

	-			
School	Activity	Start Date	End Date	Purpose
High School	PHS Variety Show	6/6/14	6/6/14	To raise money for Newcomer's club activities.
Leeds Avenue	Alex's Lemonade	6/5/14	6/6/14	To raise money for Leeds Avenue student who has been diagnosed with Cancer.

4. FIELD TRIPS:

School	Activity	Location	Date	Cost	Account#
High School	Fort Dix Museum	Fort Dix, NJ	6/5/14	Registration	JROTC Activity Account
JROTC	and Recreation			\$900.00	#042 (Registration)
Grades 9-12	Center			_	
(90 Students)				Transportation	15-000-270-512-0000-050
				\$750.00	Transportation
High School	4 th Annual	Atlantic City, NJ	8/11/14	Registration	N/A
Band	America's Armed			N/C	
Grade 9-12	Forces Parade			5	
(55 Students)				District	
,				Transportation	
				Required	
High School	Atlantic County	Atlantic City, NJ	6/19/14	Registration	N/A
Guidance	Court (One School			N/C	
Grades 9-12	One Judge				
(20 Students)	Program)			District	
	5 /			Transportation	
				Required	

School	Activity	Location	Date	Cost	Account#
South Main Mentoring Program Grade 3-5	ACUA Wastewater Facility Tour and Wind/Solar	Atlantic City, NJ	6/16/14	Registration N/C	N/A
(35 Students)	Projects,			District	
	Environmental Park			Transportation	
	Tour		0/0/44	Required	
Washington Ave Attendance Incentive Grade 5	Adventure Aquarium	Camden, NJ	6/2/14	Registration \$720.00	15-190-100-890-0000-060 Registration
(60 Students)				Transportation \$1,704.00 (2 buses @ \$852.00 each)	15-000-270-512-0000-060 Transportation and Parking
				Parking Fee \$20.00	
Washington Ave Attendance Incentive Grade 1	Storybook Land	Egg Harbor Twp., NJ	6/4/14	Registration \$1,161.00	15-190-100-890-0000-060 Registration
(74 Students)				District Transportation Required	
Washington Ave Grade 5	King Pin Bowling Lanes "Strike Out	Egg Harbor Twp., NJ	6/17/14	Registration N/C	N/A
(60 Students)	Alcohol and Drugs One Pin at a Time"			District Transportation Required	(Trip sponsored by Pleasantville Alliance)
*Field Trip Prior to B	oard Meeting Approv	ed by the State Mor	nitor**		
Middle School Gifted and Talented	ACUA Landfill and Recycling Center	Egg Harbor Twp., NJ	5/22/14	N/C	N/A
Grade 6-8 (45 Students)	Tour		(Rain Date) 5/23/14		
	ly Board Approved Tr				
Middle School Grade 8 (200 Students)	Six Flags Great Adventure	Jackson, NJ	6/4/14	\$5,498.00 Admission	Student Activity Account # 0559 (Admission)
	(Board Approved 2/11/14 & 5/13/14			\$6,000.00 Transportation (5 buses @ \$1,200 each)	15-000-270-512-0000-055 Transportation

Student ID#	Projected	Projected	Cost Per	Total Projected	Туре	Grade	Account#
	Number	Number	Hour	Cost			
	of Days	of Hours					
3002828	25	25	\$ 45.00	\$ 1,125.00	Administrative	9	11-150-100-101-0000-400
1385079	34	68	\$ 45.00	\$ 3,060.00	Administrative	12	11-219-100-101-0000-400
3070563	32	32	\$ 45.00	\$ 1,440.00	Administrative	2	11-150-100-101-0000-400
11506154	28	56	\$ 45.00	\$ 2,520.00	Administrative	7	11-219-100-101-0000-400
1385154	57	114	\$ 45.00	\$ 5,130.00	Medical	10	11-219-100-101-0000-400
11550688	10	20	\$ 45.00	\$ 900.00	Discipline	9	11-219-100-101-0000-400
1385103	6	12	\$ 45.00	\$ 540.00	Discipline	12	11-219-100-101-0000-400

5. Approval of Home Instruction for the Following Students:

- 6. Resolution to approve the adoption of the edConnectNJ Instructional Improvement System (IIS) for the 2014-2015 and 2015-2016 school years at no cost to the district. (see proposal)
- 7. Resolution to approve the renewal of the Achieve3000 program effective August 1, 2014 through June 30, 2015. This web-based reading and literacy program provides differentiated instruction, to increase reading comprehension, fluency, vocabulary and writing proficiency for students in grades 2-12. Achieve 3000 learning structure provides a path to student achievement by building a solid instructional plan as a foundation to integrate literacy across the curriculum. The cost of the renewal of the Achieve 3000 program site license is not to exceed \$87,000.00 (Elementary Schools \$56,983.80; Middle School \$31,188.08; High School \$26,357.50) utilizing the following accounts: 15-190-100-610-0000-050, 15-190-100-610-0000-055, 15-190-100-610-0000-085, 15-190-100-610-0000-060, 15-190-100-610-0000-095.

Schools Number of Licenses Total Cost Account#

Leeds Avenue School 250 Site Licenses \$14,245.95 15-190-100-610-0000-080 North Main Street School 250 Site Licenses \$14,245.95 15-190-100-610-0000-085 South Main Street School 250 Site Licenses \$14,245.95 15-190-100-610-0000-095 Washington Avenue School 250 Site Licenses \$14,245.95 15-190-100-610-0000-060 Middle School 500 Site Licenses \$31,188.08 15-190-100-610-0000-055 High School 500 Site Licenses \$26,357.56 15-190-100-610-0000-050

The renewal includes follow-up professional development training sessions for each school to enhance program functionality. The sessions will be held throughout the school year at a cost of \$4,400.00. Utilizing the following accounts: 15-190-100-320-0000-050, 15-190-100-320-0000-055, 15-190-100-320-0000-085, 15-190-100-320-0000-060, 15-190-100-320-0000-095.

8. Resolution to approve students from the Pleasantville High School and Middle School to participate in the "College for a day" events at Montclair State College, Rowan University, TCNJ, Rider University and Monmouth University in June 2014. District Transportation will be provided. There will be no additional cost to the district for our students to participate in this event.

9. Resolution to approve staff members from all schools in the District to participate in afterschool Professional Learning Communities (PLC's). Each school will engage teachers in the review of year end data to determine academic needs of students and to develop new strategies that can be implemented to raise student achievement in meeting Common Core State Standards. There will be 225 staff members (certificated and paraprofessional) x 15 hours each x \$30.00 per hour. The total cost of this project is not to exceed \$101,250.00 funding source Title I account# 20-270-200-100-0000-545 (2013-2014 NCLB Title I). NOTE: Title II not Title I

MOTION BY:	SECOND BY:		Yea:	Nay:
ROLL CALL: Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore		Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	-	

Please see page 41 for consented vote on Curriculum & Instruction Items #1-9.

PLEASANTVILLE BOARD OF EDUCATION Pleasantville High School/701 Mill Road/Cafeteria REGULAR WORKSHOP/ACTION BOARD MEETING May 27, 2014 6:00 p.m. Pupil Matters MINUTES

Pupil Matters

1. Resolution for the Pleasantville Board of Education to approve the following (HIB) Harassment, Intimidation, and Bullying Pupil Matters presented to the Board and as discussed in previous Executive Session as follows:

ID #	Date
MSP-15 -14	4/4/14
L- 8-14	3/25/14
NM-1-14	3/27/14
NM-2-14	3/27/14
WAS-19-14	3-28-14
NM-3-14	3/18/14
MSP-16 -14	3/19/14
L- 9-14	3/13/14

MOTION BY:	SECOND BY:		Yea:	Nay:
ROLL CALL:Mrs. Darleen Bey-BlockerMr. Lawrence A. DavenportMr. Paul Moore, Jr.Mr. Michael A. BrightMrs. Ethel Seymore		Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer		

Please see page 41 for consented vote on Pupil Matters Item #1.

Discussion regarding RFPs and the decision to go out for RFPs.

Approval of Finance Agenda Items #1-19, Finance Agenda Addendum, Human Resource Agenda Items #1-4, 6-11 (#5 PULLED), Curriculum & Instruction Agenda Items #1-9, and Pupil Matters Item #1.

Motion By: <u>Mrs. Harriet Jacks</u>	on	Seconded By: <u>Mr. Lawrence Davenport</u>	Yea: <u>X</u>
Roll Call:			
Mrs. Darleen Bey-Blocker	Yes	Mr. Jerome Page	Yes
Mr. Lawrence A. Davenport	Yes	Mrs. Doris Graves	No
Mr. Paul Moore, Jr.	Absent	Mrs. Harriet Jackson	Yes
Mr. Michael A. Bright	Absent	Ms. Geraldine Hayer	Yes
Mrs. Ethel Seymore	No		
MOTION PASSED			

Motion to hire Cooper Levenson as Board Attorney at a rate of \$160.00 per hour for the 2014-2015 school year.

Motion By: <u>Mr. Lawrence Dave</u>	enport	Seconded By: <u>Mr. Jerome Page</u>	Yea: <u>X</u>
<u>Roll Call</u> : Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore MOTION PASSED	Yes Yes Absent Absent Yes	Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	Yes No Yes Yes

Dr. Richens discussed his recommendation and that of the County Superintendent regarding the hiring of an Inhouse Counsel. The district received 25 applications for this position. School Districts that have an In-House Counsel usually have private Counsel who is independent of the administration.

Motion to hire DeCotiis, FitzPatrick & Cole, LLP as Labor Relations Attorney at a rate of \$160.00 per hour for the 2014-2015 school year.

Motion By: <u>Mr. Jerome Page</u>		Second By:	Mr. Lawrence Davenport	Yea: <u>X</u>
Roll Call: Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore	<u>Yes</u> <u>Yes</u> <u>Absent</u> <u>Absent</u> Yes		Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	Yes No Yes Yes
MOTION PASSED				

Motion to Adjourn at 8:00 p.m.

Motion By: <u>Mrs. Doris Graves</u>		Seconded By: Ms. Geraldine Hayer	Yea: X
<u>Roll Call</u> : Mrs. Darleen Bey-Blocker Mr. Lawrence A. Davenport Mr. Paul Moore, Jr. Mr. Michael A. Bright Mrs. Ethel Seymore MOTION PASSED	Yes Yes Absent Absent Yes	Mr. Jerome Page Mrs. Doris Graves Mrs. Harriet Jackson Ms. Geraldine Hayer	Yes Yes Yes Yes

RESPECTFULLY SUBMITTED BY:

Mr. Dennis Mulvihill Business Administrator/Board Secretary

Date

DJM/tp